e & H540

®

@
®

@

B
rel

o $:& A7

r{o

a3 HTHAA Sk az3
x O] 3HjoA 2 & M Zhe 7 By IAY Pk - 3x-2<7

St Aol @ 91 Akt 6 7HE AFE Y 1 gol 1000 € o]ste]tt,
— 6a < 100
ykm AZE A4 60km 2 7HA 3 A|ZETH A7 At

y
R
60

sHd 200 ¥ Z ui“ﬁOl x B W, oA 4= 100 FHETE
ek - 200 - x> 100

@ (a £ 3 1} 27 @rh= (a &£ 3 B} 27 2o}




2. xo Zol -2, —1,0 1, 29 9, YAREA x4 4> 3 9 o]

NaE?

14 @24 @34 @A  ©sA

~&B !

x+4>3
x>3-4
x> -—1

SLx=-1,0,1,2




1
@ §X>3

@ -34+x<2

©2x—|—6>2

® -4x+1>9

@ -2x> -4

@x<5

®@x>6

@ x<2

® x< -2




15-5x>2x-1
—5x—-2x>-1-15
—7x > -16

16
X< —

ek A4 x = 1,29] 2700l ek,




0<b<ad W, tha F AP e 227

1 1 a b

- < = 52
®a b @c>c
® —2a < -2b @ 3a-1>3b-1
® a®>ab
@c>0°]‘§ﬂ6—l>l—7,c<00]qjc_l<lz

c Cc c c




SA 3x+a<8MNtx>1 <, a9

g

2 Fsfeler

-3x+a<8
-3x<8-a
8—a
-3
-8+a

=
\
w

x>10°] =2H

-8+a=3
La=11

-8+a




7. YARGA —(4x+3)-3>5(x+1)2F2 - 2ax > 39] 37} TS o,
a®] & stofzt.

>

> 9

22

0

cCh "
=0

—(4x+3)-325(x+1)A x < —%

2 — 2ax > 394 2ax < -1

T 25N W AR ZOER 2 > 00l T A x < o
11
9 2
9
a = —




R R e L

A a o A2

-3 @ -5 ®0 @g ® 3
554 255 203 o opuiol & getol st
2(2x + 5) > 6a — 3(2x — 3) of| A

4x+10>6a—-6x+9, 10x > 6a — 1
6a —1
10
o % 71 e
6a —1
10
6a =1

T

o
=

F7hoolng

=0

a=

1
6




F5A 6x—a < 3+ 4xE WEot= 295 x 9 57470 A o, A4

a ] 9ol Wh=?

® 5<a<T @5Sa<7 ® 4<a<T
@ 4<a<T ® 4<ax<T

B ‘

6x—a <3+ 4x
6x—4x<3+a
2x<3+a

3+a

<
2

xE AL T, A5 AA O BE 17 H 5 Yk 27
1, 2, 3, 40|t}

3+a4m141_4<

rr

4 < 50looFstER 5<a < 7Ol

0 1 2 3 415
a+3
2




10. (42)* =256 L o, 254 3(x-2) <ax+ 1 & TESH= 295 x 9

NeEe?

oA @6 ® 774 @ 87H ® 971

B

(42)0 = (24)7 = 2% = 256 = 28
4da=8, a=2
3(x—-2)<2x+1
3x—-6<2x+1

Lx<T

ek A4 x 6 Aol




